
A nacr TtSAtias on tmioonomstky nABC
id) r,-4 /? ain ^ coi ^ cos ^, with symmetrical

expresnons for r, and r«.

(«) r-4 /? sin ^ sin I sin |. - ^

t^^'
'^^^ ^i^^ with radu r, t', have their centres d

iSi-*^' *?^ ."* "* ^^ »"« P^ne. Find the knsth
of the belt which goes aromid the wheels and (a)cnMMes
between them, (6) does not cross between them.

1 ^^J\^\ ^? ^°^' »^ ''+»'' " constant, show that the
length of belt is constant.

27. In Ex. 25, the wheels are 15 and 20 inches in
diamtt«-. and the axes are 120 inches apart. Find the
length of (a) the open belt, (6) the crossed belt.

2«. When a material body rests on an inclined planeshow that the ratio of the force tending down the rfwi^
to thejjressure normal to the plane is the tangent of
tne angle of inclination of the plane.
When a body rests on a plane, and the plane is in-dmed until the body is just at the point of sfiding down

It, Uie tan^nt of the angle of incKnation is caUed the
coe^feten/ of frtcHon; and under reasonable conditions
the coeffiaent of friction is constant for the same ma-
tenals in the body and the plane.
Then the amount of friction, which acts as a forceopposmg motion, is the weight of the body multipUedby the coefficient of friction.

*^

« ?1J^ the coefficient of friction of iron on iron be 0. 16.
find the mdination of an iron plane upon which an iron
block IS at the point of sliding.

30. If an iron plane have an incHnation of 3«>, find

mLvT' ^^'''ffJi^^"*^ ^?^ P'*"«' necessary to sUde ablock of iron of 100 gms. (a) up the plane, (6) down the
plane.

e^' ^ friction of a metal on oak is about 0.5. What
totee actrag at 30° upwards will move 100 kgms. of ironalong a level oak floor?


